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QUESTION 1

Which two resources are availability domain constructs? (Choose two.)
A.VCN

B. Groups

C. Block Volume

D. Compute Instance

E. Object Storage

Correct Answer: CD

References: https://docs.cloud.oracle.com/iaas/Content/General/Concepts/regions.htm#one

QUESTION 2

Which two statements are true about Oracle Cloud Infrastructure storage services?

A. You can move Object Storage buckets, Block Volumes and File Storage mount targets between compartments.
B. File storage mount target does not provide a private IP address, while the Object Storage bucket provides one.
C. File Storage uses the network file system (NFS) protocol, whereas Block Volume uses ISCSI.

D. Block Volume service scales to Exabytes per Instance, while File Storage service offers unlimited scalability.

E. You can take Incremental snapshots of Block Volumes, File Storage file systems and Object Storage buckets.

Correct Answer: AC

QUESTION 3

Which two components cannot be deleted in your Oracle Cloud Infrastructure Virtual Cloud Network? (Choose two.)
A. Service gateway

B. Default security list

C. Routing gateway

D. Default route table

E. Default subnet

Correct Answer: BD

Reference: https://www.oracle.com/a/ocom/docs/vcn-deployment-guide.pdf (4)
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QUESTION 4

You have an external facing web server running in the Oracle Cloud Infrastructure (OCI) London region.
You are notified that customers in North America and Australia are facing high latency while connecting to
your web server.

Which services are available on OCI that can help you get current latency statistics to your web server
from these markets?

A. Use DNS Zone Management service to check latency over that connection

B. Setup an IPsec VPN with customers in those markets and check latency over that connection

C. Use the Internet Intelligence tool. Run tests using the web server\\'s public IP address and review traceroute details
from different vantage points

D. Setup a FastConnect with customers in those markets and check latency over that connection

Correct Answer: C

The second tool, OCI IP Troubleshooting, helps troubleshoot issues with public facing IP addresses. This feature is also
part of our Internet Intelligence toolset, providing analytical insight to help network operations teams reduce the time it
takes to troubleshoot an issue by providing awareness of availability and latency across the Internet. Ref:

https://blogs.oracle.com/cloud-infrastructure/internet-intelligence,-now-available-in-the- oracle-cloudinfrastructure-
console

QUESTION 5

Which of the following statements is true about the Oracle Cloud Infrastructure (OCI) Object Storage serverside
encryption?

A. Encryption of data encryption keys with a master encryption key is optional.

B. Customer-provided encryption keys are always stored in OCI Vault service.

C. Encryption is enabled by default and cannot be turned off.

D. Each object in a bucket is always encrypted with the same data encryption key.
Correct Answer: B

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Object/Tasks/usingyourencryptionkeys.htm
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